Paper / Subject Code: 66636 / M acr o Economics Concepts & Applications

[Time: 2.30Hrs] [ Marks:75 ]

Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Students answering in the regional language should refer in case of
doubt to the main text of the paper in English.

Q.1 a) Discuss the various concepts of national income. 15
b) Explain the concept of human development index.
OR
a) What are the determining factors of effective demand?
b) Explain inflationary gap with the help of diagram.
Q.2 a) Explain the relationship between short run and long run Phillips curve. 15
b) Explain the shift in IS curve.
OR
a) Explain the shift in LM curve.
b) Describe the effect of contractionary monetary policy with the help of diagram.
Q.3 a) Discuss the types of disequilibrium in the balance of payments. 15
b) What are the measures to correct the disequilibrium in the balance of payments?
OR
a) Discuss the Mundell-Fleming Model.
b) Explain the income-absorption approach to devaluation.
Q.4 Choose the correct option for the following 15
1) ... Of the following not includes in Net National income.
a) Depreciation
b) Goods
c) Services
d) Import
2) ------- has defined national income.
a) Keynes
b) Robinson
c) Fisher
d) Richardo
3) What is the total money value of final goods and services produced within the
domestic territory of the country during a given year.?
a) GDP
b) GNP
c) NNI
d) GNI
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4) GNP Includes -------------- .
a) Factor Receipts
b) Factor payments
c) Receipts - Payments
d) Exports - Imports

5) According to the classical economists there is always....... In economy.
a) Unemployment
b) Economic inequality
c) Full employment
d) Poverty

6) If aggregate supply is greater than aggregate demand , employment level -------
a) Increase
b) Decrease
c) Remain constant
d) Remain balanced

7) Keynes valued the ....... to increase effective demand.
a) Only budget
b) Balanced budget
c) Deficit budget
d) Surplus budget

8) Keynesian approach is completely-------- to Classical approach.
a) Same
b) Opposite
c) Parallel
d) Subsidiary

9) Which policy is responsible for movements in the LM Curve?
a) Fiscal policy
b) Exchange rate policy
c) Monetary Policy
d) Environmental policy

10) As per ISLM Model, what happens to national income when the rate of interest
falls?

a) The national income rises

b) The national income contracts

c) There is no effect on the national income

d) The national income rises and returns to its original position

11) What does it mean when the IS curve has an elastic slope?
a) The investment demand is elastic and the investment multiplier is also high
b) The investment demand is less elastic and the investment multiplier is high
c) The investment demand is inelastic and the investment multiplier is low
d) The investment demand is less inelastic and the investment multiplier is
low
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12) In the ISLMBP technique, what does the BP curve indicate?
a) The BP curve traces out those combinations of interest rate and national
income that produce balance of payment equilibrium
b) The BP curve shows money market equilibrium
c) The BP curve shows goods market equilibrium
d) None of these

13) What happens to foreign capital flows if the domestic interest rate goes up?
a) The foreign capital inflow will increase
b) The foreign capital outflow will increase
c) Foreign capital flows are not dependent on interest rates
d) Foreign capital flows are independent of interest rates

14) Exchange rate remains constant, if the national income increases, what will be
the impact on the current account?

a) The imports will decrease

b) The imports will increase

c) The exports will increase

d) The exports will decrease

15) What will be the monetary policy stance in the case of a current account
deficit?

a) The monetary policy will be expenditure reducing

b) The monetary policy will be neutral

c) The monetary policy will increase expenditure

d) The monetary policy will switch expenditure

Q.5 Write notes on (Any 3) 15
a) Wholesale price index
b) Nominal and real interest rates
c) Phillips curve
d) Capital account of balance of payment
e) Affecting factors of the balance of payments
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3) feelear auieaaTeT SR ERATC JeRmeed daR dheledr H{dH aecq 3oy
Yard THUT Hed FUTS I 3778 ?

a) Y RN Scdres

b) FYF TSR SedTGeT

c) focas T 3o

d) e TET SeTost

4) T TSE ScToaATdl.... T FATAL el
a)ﬂmﬁvﬁ'
b) "edhrr ofr
c) Jufr - gofY
d) T - 3maa

5) ATdAAGT FITATIT A IITIEAd AT ... 3.
a) SASTITRY
b) 3 fawear
) 9T USHIR
d) aigd

~

6) S TehUT YXEST &1 THUT AEUMYET SIEd 3 o USHIR UIa. ...
a) dred
b) T B
) &R wEd
d) Hferd IEd

a) Bad 3ereldash
b) HAferd 3feTeTdash
c) Hoaﬁ K ACEEE
d) TRrerhr sigrea s

8) el ITAT ESThIeT 8T HeATclaldIel EfSeehlomear quidol......... 3Te.
a) 9RAEId
b) faeg
c) AR
d T

N
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9) HIUTCT YO IROMHA LM TehraX glal?
a) VST YRoT
b) IR AT YRoOT
c) FHifgH URor
d) TATEROT YROT

10) ST &X HA! STl AT ISLM TAAATIAR TG ScUeallal T IROMH
grar ?

a) UL IcUesl dled

b) URET IcUeal FAT Bl

c) T 3ceoT AT TR

d) AR 3ot ared 30N FeR qErerdAed A,

11) 1S Tk ordTaeh 3Tg’ AT faermeiren 31 1 3e?
a) AU HAMEON oafdeh 3¢ 0N Idqus 0T HST ITE.
b) W AU 3eY-clafe Mg 37ofr dldqqu—, 0T AT I
c) W APl 3eafe g 3ol dldqu!\q—, VT TG M
d) W AR 37e9-37adides 3T 3T0f dJ;ququ VT oIGTe] M

12) IS-LM-BP SfQ#HTATHY, BP dsh &[T &Rifadr?
a) ATSI-&, UET 3ot ION chagR AMHST FAcI fafder fog
gefaar
b) BP d%h #AT0l STSIRIAIA THAdAIS gefdar
c) BP@sh aEd SISIRIC FHcS &ifdar
d) TR AUTAET SATEr

13) TGN SATH-EIAY a1 STl dX WehlT HSdell JATgrax s IROTH
grare

a) YRR HSTaTdT 3cR-Udig aredl

b) WP HSTAT S -Jag dicel

c) TITSI-&Y U WHIT HSdell Tdlg IraT Joaed ATl

d) IRIT HISTATIT YATE &1 AT a3

14) AfAHAT &7 TR AT, dededr AT 3cTe=Aral Ale] WicdTa HioTdT
qRUTH gisel?

a) 3T dreel

b) AT area

c) 3T TEeT

d) g awier
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15) TTe], WAL ¢ 3¥el T, Hifgew UROT @ 3o
a) I FHAT UMW
b) Fifged URUT TCET A
c) Td Jefaum 3o
d) @A fEaregd UMY

9.9  Wlold deiaX g foIgr. (PIoTcamar 3)
3N "3 fhaa Rdeas
) ATHATT 10T arEdider cTTeiel
&) fferca ash
) TYAgRANTT $7Sdell Wi
$) SHGERRANTER GRUMA UM Teh
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